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2 EEWERARAE OB AL, FAE B ICHRIRERE % £#.

&S R R EE#(GEL KR FAEHE (£2) AR S
26911 |104% S5 i) HY (FBETIEAEWL) 4F26H HY) L

26912 |401% ik Ky HY (BETIEAWL) 48248 HY Egan=|

26913 4048 gegi KT FAEIR 4A250 »Y) N 3=

26914 |50% pogi BRREIEN FREIR 4F25R »Y) N3

26915 |204% B B RRERREN HY (BETEARL) 4A23H - E=vag=]

26916 |10k |zt BRREFERN HY (BETIEAEWL) 45260 - L

26917 |304% gL B RRERREN HY (BETEARL) 4A24H - NR—h&A<—
26918 |60f% Btk BRREIEN HY (BETIEARL) 4823R - Eevan=|

26919 |304% pogi 4K AT HY (BETEARL) 4A24H HY NR—h&A<—
26920 |[301% S ER™ HY (BETIERW) 4H22H »H) Evan=|

26921 |304% pogi EIRT HY (BETEARL) 4A24H HY L

26922 |10/ |2tk IR HY (BETIEAWL) 45248 HY (HF - REMEK102) L

26923 |304% pogi K T HY (EETIEARL) 4A25H »Y) EilzNs]
26924  |301% St BRREFAEN HY (BETIERW) 4H25H »H) RNIFE

26925 |101% i T HY (BETIEAL) 4/ 25H HY) L

26926 |10 |Bt KT HY (BETIEARW) 4A25H - #L
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= R el EE#(GEL) T 7N FAEH (F2) AR oS
26927 4048 Bk BRREFREN HY (BETEARL) 4A25H - E=vag=|
26928 |40% ik BRREFMEN HY (BETIEAWL) 48268 - ey = |
26929 |10k |BtE FRET HY (BETEARL) 4268 - L
26930 [30% pogi ELE HY (BETIEARL) 4A18R HY Eeyan=|
26931 4048 gegi ERT HY (BETEARL) 4A26H »Y) E=vag=|
26932  [201% ik IR HY (BETIEAL) 48258 HY Egan=|
26933  |40f% gL B RREFREN HY (BETEARL) 4A24H »Y) E=vag=]
26934 [101% S BRREFERN HY (BETIEAL) 48258 HY Egan=|
26935 |601% B R HY (EFETIEAL) 4826H H Y L
26936 |60f% pogi R HY (BETIEARL) 48260 »Y) #BL
26937 |204% Bt B R BRATE N HY (BETEARL) 4A25H - E=vag=|
26938 [101% 7 aFHT HY (BETIEARW) 4H25H »Hl) L
26939 |204% pogi EIRT HY (BETEARL) 4A27H - EilzNs]
26940 |101% St SORET HY (BIETIEEW) 4R 26H - L
26941 |40f% Bt B R N HY (BETEARL) 4A26H »Y E=vag=|
26942 |201% 7 ER™ HY (BETIEARW) 4H26H »Hl) WN—h XA ~7—
26943 |401% S BRREFREN HY (BETIEAWL) 48208 - Egan=|
26944 2048 Bk IR HY (BETIEARW) 4A24H - E=van=|
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= R el EE#(GEL) T 7N FAEH (F2) AR oS
26945 1048 Bk BRREFREN HY (BETEARL) 4A24H HY L
26946 |201% S BRREFMEN HY (BETIEAWL) 48268 - NBE
26947 408 Bk AR AT E W HY (BETIEARL) 4A24H - E=vag=|
26948 |304% gL sl HY (BETIEARL) 4A22H HY) NR— & A <—
26949 |104% gegi (ZSn HY (BETEARL) 4A23H HY L
26950 [401% B el ) HY (EFETIEEL) 4H23H »H) SN
26951 |l0mekid B s[5} HY (BETEARL) 4A23H HY L
26952 |30#% pog E(Z=i7] HY (BETIEARL) 48200 »Y) Eevan=|
26953 |10mekid B £ HY (BETEARL) 4A22H HY L
26954  |401% S bZ= it} HY (BETIEAEWL) 48218 HY Egan=|
26955 |301% 7 HEMREEFTEW HY (BETIEAWL) 45 26H - NBE
26956 |50 gt S| dl=hs HY (BEETIEARW) 48250 »Y) Eevan=|
26957 |304% SBi% bk HY (BETIEAWL) 45240 HY E=yan=|
26958 [301% Eeqs el ) HY (BETIEARW) 4H25H »Hl) Evan=|
26959 |10 &M s[5} HY (BETEARL) 4A24H HY L
26960 |701% B el ) HY (BETIEARW) 4F823H - L
26961 |101% i HEMREEFTE W HY (BETIEAWL) 4/ 25H - L
26962 |304% Bk E(E=ir] HY (BETIEARW) 4A23H »Y E=van=|
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= R el EE#(GEL) T 7N FAEH (F2) AR oS

26963 |10k |BtE RERRIEFTE HY (BETIEARW) 4A24H = L

26964 |10/ | Bk bt HY (BETIEAWL) 45220 HY) L

26965 |804% gegi AR AT E W HY (BETIEARL) 4A24H - HEx

26966 |30t Btk AR EATE W HY (BETIEARL) 48250 HY Eeyan=|

26967 |10k |BtE S| l=hs HY (BETEARL) 4A25H HY (FKILT) L

26968 |10t B |l HY (BETIEARL) 4A25H - L

26969 |l0mekid |z hERRIEFTE HY (BETEARL) 4A26H HY L

26970 |40% S HEMREEFTE W HY (BETIEAL) 45268 HY Egan=|

26971 |104% gL E(ZnT HY (BETEARL) 4A25H HY L

26972 |101% S bZ= it} HY (BETIEAEWL) 47240 - L

26973 |40f% pogi REMREEATE W HY (BETEARL) 4A23H »Y) E=vag=|

26974  |601% 7 &M HY (BETIEARW) 4H21H »Hl) N—h&Af~—
26975  |40f% pogi REMREEATE W HY (BETEARL) 4A20H »Y E=vag=|

26976 |501% St &M HY (BETIEARW) 4H25H »Hl) RNIFE

26977 |204% S L& HY (BETIEAWL) 45250 - NBE

26978 |501% St HRERERIERTE N HY (BETIEARW) 4H25H »Hl) Evan=|

26979 |50% pogi REMREEATE N FREIR 4F260 HY HEZ%

26980 |30#% pogi E(E=ir] HY (BETIEARW) 4A25H »Y E=van=|
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5 e | 3 BB R SIEH (32) HE A B
26981 |10msRid | 2% el AR 4826H HY 7w L
26982 |501% B S|l SRR 4A26H HY) SHE
26983 |10t gt S| l=hs HY (BETIEARW) 4B24RH HY) il
26984  [501% gL e HY (BEETIEARL) 4A22H - SHE
26985 |10mtski® |BH (ZSn Y (EETIEARW) 4B 25H HY (FH124) il
26986 |10mEskid |BH ft&m HY (BEETIEARW) 4A25H HY (FK124) #BL
26987 [20f% B HEBRIEFTE N HY (BETIEAEWL) 4H26H HY) Ergan=|
26988  |404% i B4 (JdeLm™) HY (BETIEAL) 45230 HY 25
26989 [20f% Eeqis bt HY (BETIEAEWL) 4B248 - Ergan=|
26990 |704% B (20 HY (BEETIEARW) 4A24H - SHE
26991 |10m%skim |&t et HY (BETIEARL) 4B 23H HY) #L
26992 [30f% g3 b HY (EETEARW) 4B 26H - L
26993 |30t B b HY (BETIEARL) 4B 25H HY) oy
26994  [30f% CoYS b HY (EETEARW) 4A25H HY SHE
26995 [40f% St HEBRIEFTE N HY (BIETIEAEWL) 4H26H - frgan=|
26996 |70f% gt FERRIERTE HY (BEETIEARW) 4B 22H HY #BL
26997 [30f% B b HY (BEETIEARL) 4A23H - E=vag=|
26998 |10miskid |BMH b Y (BETIEARW) 4B 26H - il
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= R el EE#(GEL) T 7N FAEH (F2) AR oS

26999 |104% gegi x|l HY (BETEARL) 4A26H HY (FKILT) L

27000 |l0mskis | Btk Lk R 45260 HY) L

27001 |10msRid | 2% ktm HREIR 4826H HY 7w L

27002 |10msRis | Bk bt HY (BETIEAWL) 48268 HY (F®RILT) L

27003 1048 gegi AR AT E W HY (BETEARL) 4A23H HY (FHB - REMEKRIOT) L

27004 |501% SE bk HY (BETIEAL) 48258 HY Egan=|

27005  |404% gL hERRIEFTE HY (BETEARL) 4A25H - NR—h&A<—
27006 |30f% Btk AR AT E W HY (BETIEARL) 48241 »Y) HE%

27007 |90mRLAE |BM hERRIEFTE HY (BETEARL) 4A26H HY L

27008 |401% S HEMREEFTE W HY (BETIEAEWL) 48248 HY e SN

27009 |104% B s[5} HY (BETEARL) 4A24H HY (FK127) L

27010 |401% S HRERERIERTE N HY (BETIEARW) 4H21H »Hl) Sh=F1

27011  |504% 7 L&™ HY (BETIEAWL) 45250 HY E=yan=|

27012 401X St HRERERIERTE N HY (BETIEARW) 4H23H »Hl) e NS

27013 |304% pogi (Zn HY (BETEARL) 4A26H - HE%

27014  |404% pogi AR AT E W HY (BETIEARL) 48241 »Y) Fnk

27015 |101% i HEMREEFTE W HY (BETIEAWL) 45240 - L

27016  |604% pogi E(E=ir] HY (BETIEARW) 4A25H - E=van=|
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= R el EE#(GEL) T 7N FAEH (F2) AR oS
27017 |104% Bk AR AT E W HY (BETEARL) 4A25H HY (FKILT) L
27018 |10mekis | Bk bt HY (BETIEAWL) 45230 HY) L
27019 |10mkim |Bt S| l=hs HY (BETIEARL) 4A23H HY L
27020 |10% ik P27l HY (BETIEAWL) 48268 HY Eyan=|
27021 1048 Bk AR AT E W FREIR 4A26H »Y) E=vag=|
27022 |10k | Bk bk HY (BETIEAL) 48198 HY (HE - REMEKI0T) L
27023 |604% B hERRIEFTE FREIR 4A26H HY (FHB - REMEXRIOT) HEzE
27024  |401% 7z bk HY (BETIEAL) 48208 HY (FERLILT) Egan=|
27025 |104% gL hERRIEFTE HY (BETEARL) 4A20H HY L
27026 |10k | Bk HEMREEFTE W HY (BETIEAEWL) 45268 HY) mL
27027 |10mmKiE | B L&™ HY (BETIEAWL) 45 26H HY (F124) L
27028 |101% B el ) HY (BETIEARW) 4F826H - L
27029 |101% i It £ HY (BETIEAWL) 45260 - L
27030 |201% i L&™ HY (BETIEAWL) 48248 HY NBE
27031 |201% i L&™ HY (BETIEAWL) 45268 HY mL
27032 |10#% Bk feEm HY (BETEAL) 4A24H HY L
27033  |301% St Jttm HY (FEFETIEAEL) 4H26H »H) Ergan=|
27034 |304% pogi (Zn HY (BETEARL) 4A25H - E=vag=|
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= R el EE#(GEL) T 7N FAEH (F2) AR oS
27035 |10mkiE | Bk .k HY (BETIEAW) 48258 HY (F1128) L
27036 |10/ (B %] HY (BETIEAWL) 45250 - L
27037 |301% S B HY (BETIEAWL) 48268 HY E=zan=]
27038 |10% St B HY (BETIEAWL) 48258 HY L
27039 [101% i BN REFTE A HY (BETIEAW) 45250 - L
27040 |301% S BN HY (BETIEAWL) 48258 HY) E=yan=|
27041 [30% ik BN HY (BETIEAW) 48238 HY mL
27042 [301% Eeg BN HY (BETIEARW) 4825H HY) N 3=
27043 |401% ik BN HY (BETIEAW) 48218 HY) E=yan=|
27044 |204% pogi BNREFTE N HY (BETIEAWL) 48260 »Y) E=vag=]
27045 |10/ | Bk BN HY (BETIEAWL) 45268 HY mL
27046 |101% St BN HY (BETIEAWL) 48258 HY mL
27047 |104% B BN HY (BETIEARW) 4F22H »Hl) L
27048 |10k | Bk BN HY (BETIEAEW) 45268 HY (HF - REMEKLLD) L
27049 [101% i BN HY (BETIEAWL) 48220 HY mL
27050 [101% St BN HY (EFETIEAEL) 4F248 »H Y L
27051 |601% St BN HY (EFETIEAEL) 4H26H »Hl) BE%
27052  |504% Bk BN REFTE N HY (BETEARL) 4A26H - E=vag=|
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= R el EE#(GEL) T 7N FAEH (F2) AR oS
27053 |604% B B3 HY (BETEARL) 4A26H - L
27054 |301% i B HY (BETIEAWL) 48248 - NBE
27055 |10/mK |ZE B HY (BETIEAWL) 48268 HY L
27056 |704% pogid ENRERTE A FAEIR 4827H - L
27057 |301% S BN REFTE A HY (BETIEAW) 48258 HY E=zan=]
27058 |30f% pog &7 IE BT HY (BETEARL) 4A24H - NR—h&A<—
27059 |10% ik BN HY (BETIEAW) 47250 - L
27060 |201% ik BN HY (BETIEAWL) 48238 - iz
27061 |501% S BN HY (BETIEAW) 47 27H HY mL
27062 |101% S BN HY (BETIEAEWL) 45268 HY mL
27063 |10/ |2tk BN HY (BETIEAWL) 45268 HY mL
27064  |40% St BN HY (BETIEAWL) 48278 HY E=yan=|
27065 |401% i BN HY (BETIEAWL) 48278 HY E=yan=|
27066 |201% i BN HY (BETIEAWL) 45268 - E=yan=|
27067 |301% i BN HY (BETIEAWL) 45268 HY E=yan=|
27068 |104% pogi —BH HY (BETEARL) 4A23H HY L
27069 |10 |Bt —BEH HY (BETEARL) 4A24H HY L
27070 |204% Bk —BH HY (BETEARL) 4A26H - E=vag=|
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27071 [301% S —Bh HY (BETIEAW) 48248 HY E=zan=]
27072 |601% S —Bh HY (BETIEAWL) 48268 - E=zan=]
27073 |101% i —Bh HY (BETIEAWL) 45260 - L
27074 |101% St —Bh HY (BETIEAWL) 4/ 25H - L
27075 |10mR |ZE —Bh HY (BETIEAW) 48258 HY (HE - REMEKR109) L
27076  |101% ik —BI™ HY (BETIEAWL) 47260 - 3L
27077 |50% i —BaH HY (BETIEAEWL) 45268 HY) iz
27078 |101% S —BI™ HY (BETIEAWL) 47 27H - L
27079  |404% Bk —Bdm FREIR 4A27R »Y) E=vag=]
27080 |30f% Bk —Bdm HY (BETEARL) 4A27R »Y) E=vag=]
27081 |10% i —BIm™ HY (BETIEAWL) 48 27H HY mL
27082 |10mskim |ZIE —Bm HY (BETIEARW) 4827H HY) 7wl
27083 |101% i —BIm™ HY (BETIEAWL) 45268 HY mL
27084 |10/ |2tk =hm ER 48258 HY (HFE - REMEKIT) L
27085 |10msim |Zotk =ah FREIR 4F25R HY (B - REMERIT) L
27086 |10 |BtE =ah FREIR 4A25H HY HE - REMERIT) L
27087 |304% pogi EEREMEN HY (BETEARL) 4A23H HY HB - REMEKRIL) N3]
27088 |704% pogi EEREMEN HY (BETEARL) 4A22H HY HB - REMEKRILT) L

-10 -




11/13~—=%
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27089 |10k B4 BEREREN HY (BETIEARW) 4821R HY L
27090 |301% S =Hm HY (BETIEAWL) 48268 HY E=zan=]
27091 |201% S =Hm ER 48 26H HY (HE - REMERKRILD) E=zan=]
27092  |201% ik =Hm HY (BETIEAWL) 48198 HY (HE - REMERKRILD) E=zan=]
27093 |101% S EHREFTERN HY (BETIEAW) 48268 HY L
27094 |10k |2tk =EHRERERN HY (BETIEAWL) 48258 HY mL
27095 |10k |2tk =hm HY (BETIEAEWL) 45268 HY (HE - REMERKRILD L
27096 |10% ik =hm HY (BETIEAWL) 47240 HY mL
27097 |301% S =EHREREN HY (BETIEAW) 48248 - E=yan=|
27098 |201% ik =EHREFREN HY (BETIEAEWL) 48178 - E=yan=|
27099 |504% Bk EERBMEN HY (BETEARL) 4826R - E=vag=|
27100 |301% St =hm HY (BETIEAWL) 45268 HY Sz
27101 |10k | Bk AR™ HY (BETIEAEW) 48258 HY (HF - REMEK110) 3L
27102 |10k | Bk AR™ HY (BETIEAWL) 45268 HY mL
27103 |101% St AR™ HY (BETIEAWL) 45268 HY mL
27104 |10mkiE | B ARE™ HY (BETIEAEW) 4F25H HY 7L
27105 |101% St ARE™ HY (BIETIEAEWL) 4F23H HY (F#K120) 7L
27106 |401% St ARE™ HY (BIETIEAEWL) 4F25H HY (F#K120) Ergan=|
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27107 |10/mK (B AFH HY (BETIEAW) 48248 HY L
27108 |10k (B ARRBFTERN HY (BETIEAWL) 45260 - L
27109 |10% S ARRBFIERN HY (BETIEAWL) 48258 HY (F#120) L
27110 |101% ik AFEH HY (BETIEAWL) 48268 HY L
27111 |204% B AR EFTE N HY (BETIEARW) 48250 - E=vag=|
27112 |204% ik ARRBFIERN HY (BETIEAEWL) 45268 HY) iz
27113 |501% ik ARRBFIERN HY (BETIEAW) 45268 HY) iz
27114 [301% ik ARE™ HY (BETIEAWL) 48228 HY (HE - REMEK110) E=yan=|
27115 |10mkis | Bk ARE™ HY (BETIEAW) 48228 HY (HE - REMEFK110) 3L
27116  |401% S ARRBFIERN HY (BETIEAEWL) 45268 HY E=yan=|
27117 [504% B ARREFTE N HY (BEFETIEAL) 4726H - =8
27118  [301% St ARREFTEN HY (BETIEAWL) 45248 - NBE
27119 |101% St FEEFHT HY (BIETIEAEW) 48 26H HY) mL
27120 [301% S —F HY (BETIEAWL) 45268 HY (B#%66) NBE
27121 |104% St —FREFTERN HY (BETIEAWL) 48258 HY mL
27122  |501% 7 “FREFEA HY (EFETIEAEL) 452508 »H Y L
27123 |101% 7 “FREFEAN HY (BIETIEAEWL) 45208 - Bilz::4=]
27124 |404% S -y HY (BIETIEAEWL) 4F18H HY) E=van-|
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= EM] PRI E{EHCEL) FEIR FAEHE (GE2) B [HES
27125 |601% [ ZRREFREN HY) (BEETIEAHW) 48258 - AL
27126 |101% i — Ry HY (BETIEHRW) 4R26H HY) (B3566) NIEE
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